
Maths Answers 
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Lesson 2 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Lesson 3  

 

Q1. 
Award THREE marks for the correct answer of 7,174 

If the answer is incorrect, award TWO marks for: 

•   evidence of an appropriate complete method which contains no more than 
ONE arithmetic error, e.g. 

  

3,504 + 3,570 = 7,074 

Award ONE mark for: 

•   evidence of an appropriate method with more than ONE arithmetic error. 

OR 

•   sight of 3,604 as evidence of long multiplication step (68 × 53) completed 
correctly. 

OR 

•   sight of 3,570 as evidence of long multiplication step (105 × 34) completed 
correctly. 

Answer need not be obtained for the award of ONE mark. 

A misread of a number may affect the award of marks. 
No marks are awarded if there is more than ONE misread 
or if the mathematics is simplified. 

TWO marks will be awarded if an appropriate method 
with the misread number is followed through correctly. 

ONE mark will be awarded for evidence of an appropriate 
method with the misread number followed through 
correctly with no more than ONE arithmetic error. 

Up to 3m 

[3] 

Q2. 
Award TWO marks for numbers completed, as shown: 

 



Award ONE mark for any two numbers completed correctly. 
Up to 2m 

[2] 

Q3. 
  
Both numbers correct as shown: 

  

Numbers must be in the correct order. 

Do not accept: 

  

[1] 

Q4. 
  
Numbers circled as shown: 

  

Accept alternative unambiguous positive 
indications, e.g. numbers ticked or underlined. 

[1] 

Q5. 
Award TWO marks for both numbers correct as shown. 

  

If the answer is incorrect, award ONE mark for one number correct. 

Do not accept 12− 

Accept +2 in the right-hand box. 
Up to 2 

[2] 

Q6. 



0.993 

[1] 

Q7. 
Award TWO marks for the correct answer of 55p OR £0.55 

If the answer is incorrect, award ONE mark for evidence of appropriate working, 
eg 

■       £2.35 – £1.25 =  £1.10 

£1.10 ÷ 2 = wrong answer 

Accept for ONE mark £55 OR £55p OR 0.55p as 
evidence of appropriate working. 

Working must be carried through to reach an 
answer for the award of ONE mark. 

Up to 2 

U1 

[2] 

Q8. 
(a)     109 

1 

(b)     An explanation that recognises that 100 people get up before 9am 
which is two-thirds of the total (150). 

■        ‘13 + 28 + 59 = 100 which is two-thirds of the total’ 

■        ‘  of 150 = 50 and 2 × 50 = 100’ 

■        ‘  of 150 is 100’ 

■        ‘36 + 14 = 50 which is one-third after 9am’ 

Do not accept vague or incomplete explanations, 
eg: 

■   ‘One-third are 9 o’clock or later’ 

■   ‘100 got up at 9am’ 

■   ‘Twice as many got up before 9am.’ 

■   ‘13 + 28 + 59 = 100’ 
U1 

[2] 

  

Q9. 
  
Award TWO marks for the correct answer of £1.68 



If the answer is incorrect, award ONE mark for evidence of an appropriate 
method, e.g. 

•    20 − 14.96 = 5.04 
     5.04 ÷ 3 

Accept for ONE mark an answer of £168 OR £168p 
as evidence of an appropriate method. 

Answer need not be obtained for the award of ONE 
mark. 

Up to 2m 

[2] 

Q10. 
  
(a)     9 

Do not accept –9 or 9– 
1 

(b)     –6 

Do not accept 6– 
1 

[2] 

Q11. 
Award TWO marks for the correct answer of 30p. 

If the answer is incorrect, award ONE mark for evidence of appropriate 
working, eg 

10p × 2 = 20p 

£1 – 20p = 80p 

80p ÷ 4 = 20p 

20p + 10p = wrong answer 

OR 

£1 ÷ 2 = 50p 

50p – 10p = 40p 

40p ÷ 2 = 20p 

20p + 10p = wrong answer 

Working must be carried through to reach an 
answer for the award of ONE mark. 

Up to 2 (U1) 



[2] 

Q12. 
(a)     –75 in the first box 

Do not accept 75– 
1 

(b)     –200 in the second box 

Do not accept 200– 

Accept a number 125 less than the answer to (a), 
provided the answer to 18a is negative. 

1 

[2] 

Q13. 
Award TWO marks for the correct answer of 23 

If the answer is incorrect, award ONE mark for evidence of appropriate working, 
eg 

2 × 2 = 4 

4 + 5 = 9 

9 × 2 = 18 

18 + 5 = wrong answer 

Working must be carried through to reach an 
answer for the award of ONE mark. 

Up to 2 (U1) 

[2] 

Q14. 
(a)     7 

Accept 7 r 55p. 

Do not accept 7 r 55 
1 

(b)     Award TWO marks for the correct answer of £4.11 

          If the answer is incorrect, award ONE mark for evidence of appropriate 
method, eg 
4 × 3.79 = 15.16 
8.95 + 15.16 = 24.11 
24.11 – 20 

Accept for ONE mark £411 OR £411p as evidence 
of appropriate method. 

Answer need not be obtained for the award of ONE 
mark. 

Up to 2 



[3] 

Q15. 
Award TWO marks for the correct answer of £33.75 

If the answer is incorrect, award ONE mark for evidence of appropriate 
method, eg: 

•    Ben: £15 
Nisha: £15 – £7 = £8 
Emily: £8 + £2.75 = £10.75 
£15 + £8 + £10.75 

OR 

•    15 + (15 – 7) + (15 – 7 + 2.75) 

Accept for ONE mark £3375 OR £3375p as 
evidence of appropriate method. 

Answer need not be obtained for the award of ONE 
mark. 

Up to 2 

[2] 

Q16. 
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